
2年

１ 
（１） 

Numbers up to 1000 
  年   組

くみ

 

 

名前
まえ

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Express the following using numerals. 

 

100 

100 

100 

100 

10 

10 

10  10 

10 10 

10 10 

1 

1 

1 

1 

1 
Hundreds 

place 

 

Tens place Ones place 

 

②Three hundred fourteen 

（    ） 
③Eight hundred fifty 

（    ） 
④Two hundred eight 

（    ） 
⑤Seven hundred 

（    ） 
 

Write the correct numbers in the □. 

 

⑥           is the number made of 5 

 hundreds, 2 tens, and 8 ones. 

 

⑦ 145 is the number that has      

hundreds,      tens, and       

ones. 

 

⑧         is the number that has 9 in 

the hundreds place, 4 in the tens 

place, and 2 in the ones place. 

 

⑨         is the number made of 57 

tens. 

 

⑩ 840 is the number made of       

tens.             

Write the correct numbers in the □. 

⑪ 

             298     299                      302     303 
         

⑫ 

        680     685             695                      710 
         

⑬ 

                940             960      970     980 
         

 

① 



 

2年

１ 
（２） 

Numbers up to 1000 

  年   組
くみ

 

 

名前
まえ

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Write the correct numbers in the □. 

 

⑥           is the number made of 5 

 thousands, 4 hundreds, 8 tens, and 5 

 ones. 

 

⑦  5461 is the number that has   

hundreds,       tens, and        

ones. 

 

 

 

⑧ 

 

 

⑨ 

 

 

⑩ 

 

Write the correct numbers in the □. 

⑪ 

 
         

⑫ 

  
         

⑬ 

   
         

 

Express in numerals. 

 

 

 

1000 

1000 

 

100 

100 

100 

100 

 

 

10 

10 

10 

 1 

1 1 

1 1 

1 1 

1 1 
Thousands 

place 

Hundreds 

place 

Tens place Ones 

place 

②Seven thousand three hundred 

ninety-eight 

（    ） 
③Four thousand fifteen 

（    ） 
④One thousand two hundred three 

（    ） 
⑤Nine thousand four 

（    ） 
 

① 

3950 3960 

00 

3990 4020 

4600 4500 

00 

00 

4800 5100 

6500 7500 8000 9500 



 

2年

１ 
（３） 

１万までの数 

  年   組
くみ

 

 

名前
まえ

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

つぎの文をしきにあらわしましょう。 

① 

 

 

 

6170＝    +    +   

□にあてはまる「＞」、「＝」、「＜」を 

書きましょう。 

② 9000       8800 

③ 4300    4500 

④ 1790    1730 

⑤ 2500    2000+500 

⑥ 6100    6000+300 

□にあてはまる数を書きましょう。 

⑦1000を 5こ、10を 6こ、1を 9こ 

 あわせた数は      です。 

⑧3800は      と 800を 

 あわせた数です。 

⑨5700は 6000より 

       小さい数です。 

⑩2400は 2000より 

       大きい数です。 

⑪10000より 3000小さい数は 

       です。 

 
□にあてはまる数を書きましょう。 

⑫ 

 
                                                                                                         

⑬ 
 
  

                                                                                                   

⑭ 
 
 

                                                                                                   

 

６１７０は、 

６０００と１００と７０を 

あわせた数です。 

1000 

00 

3000 

00 

0 

0

0 

7000 

00 

7100 

00 

6800 

00 

9990 

00 

9980 

00 

9970 

00 



 

2年

１ 
（４） 

１万までの数 

  年   組
くみ

 

 

名前
まえ

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

つぎの文をしきにあらわしましょう。 

① 

 

 

 

3502＝   +   +   

□にあてはまる「＞」、「＝」、「＜」を 

書きましょう。 

② 3021       2983 

③ 5684    5716 

④ 9382    9379 

⑤ 6212    6000+200 

⑥ 8051    8000+50+1 

 

□にあてはまる数を書きましょう。 

⑦1000を 9こ、100を 1こ、10を 2こ 

 あわせた数は      です。 

⑧100を 100こあつめた数は 

       です。 

⑨8900は      より 

100小さい数です。 

⑩10000は 6000より 

       大きい数です。 

⑪4000より 600小さい数は 

       です。 

 
□にあてはまる数を書きましょう。 

 

2480                  2490                                         
                                                                                                   

 
 
 4800                  4900                                        5100 

                                                                                                   

 
 
9700                  9800                  9900 
                                                                                                   

 

３５０２は、 

３０００と５００と２を 

あわせた数です。 

4900 

00 

5100 

00 

4800 

00 

9800 

00 

9700 

00 

2490 

00 

2480 

00 

9900 

00 



 

2年

１ 
（５） 

１万までの数 
  年   組

くみ

 

 

名前
まえ

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

２６００という数について答えましょう。 

 

0   
                                   
                                   
                                   

 

①上の数の線で、２６００をあらわすめもりに↓をかきましょう。 

 

 

・□に入る数をかきましょう。 

 

②２６００は、       と６００をあわせた数です。 

 

 

③２６００は、１００を        こあつめた数です。 

 

 

④２６００は、３０００より        小さい数です。 

 

 

 

・２６００のあらわし方をじゆうに考えてみましょう。 

 

⑤２６００は、                          数です。 

 

 

⑥２６００は、                          数です。 

 

 

⑦２６００は、                          数です。 

1000 

00 

2000 

00 

3000 

00 

0 

00 


